
SBL 0302 Salon Bridgekerho

2023-01-18  Rabbit 18.1. Lopputulos
4 pöytää, 8 paria. Jakomäärä: 18. Keski: 54.

Sija Pari Pisteet % Nimi VP J-ID Kerho

1 7 65 60,2 Arja Niskanen - Pirjo Kujala 5 2956 3302 Salon Bk
2 5 61 56,5 Matti Alanko - Jarmo Laakso 3 2736 1365 Salon Bk
3 6 59 54,6 Jari Hilska - Janne Blomqvist 1883 2840 Salon Bk
4 1 57 52,8 Elise Jauros - Outi Yrttiranta 1761  Salon Bk
5 3 49 45,4 Anna-Liisa Hiuspää - Merja Mölsä 2918 2839 Salon Bk

6 8 48 44,4 Jaakko Viima - Matti Rintala 2080 3024 Salon Bk
7 2 47 43,5 Riikka Sajaniemi - Tuomo Sajaniemi 3184 2979 Ei SBL:n jäsen
8 4 46 42,6 Hanna Ruska - Liisa Sievänen 3185 3183 Salon Bk



SBL 0302 Salon Bridgekerho

2023-01-18  Rabbit 18.1. Lopputulos
4 pöytää, 8 paria. Jakomäärä: 18. Keski: 54.

Pari Sit LK Tulos Pisteet

 1

 AKJ53
 K10
 K853
 Q7

 Q82
 Q
 Q102
 K109432

 1076
 J763
 A976
 86

 94
 A98542
 J4
 AJ5

7 1 3 W -1 Q 50       6 0
8 3 2 W = Q -110 4 2
5 4 2 W +1 Q -140 2 4
6 2 5x N -2 A -300 0 6

Pari Sit LK Tulos Pisteet

 2

 J53
 K54
 Q3
 AKQJ8

 AK2
 AQJ1063
 K864
 ---

 Q10984
 8
 J1097
 1093

 76
 972
 A52
 76542

6 2 4x N +2 8 1190       6 0
5 4 4 N +3 3 710       4 2
7 1 2 N +2 9 170       2 4
8 3 4 E -2 7 100       0 6

Pari Sit LK Tulos Pisteet

 3

 J103
 73
 8762
 9742

 K76
 K85
 QJ943
 K5

 A984
 A92
 K10
 AJ63

 Q52
 QJ1064
 A5
 Q108

5 4 4 S = 3 420       6 0
7 1 3 S +1 J 170       4 2
6 2 3 S = 3 140       2 4
8 3 3x S -1 2 -100 0 6

Pari Sit LK Tulos Pisteet

 4

 AK104
 KQJ93
 9
 K98

 QJ653
 A6
 QJ4
 Q107

 872
 54
 AK875
 J62

 9
 10872
 10632
 A543

1 3 3N E -1 3 100       6 0
4 8 1 N -3 A -300 4 2
6 5 3N W = 5 -600 1 5
7 2 3N W = Q -600 1 5

Pari Sit LK Tulos Pisteet

 5

 A943
 K
 10954
 8732

 102
 J9532
 AJ8
 KJ4

 75
 AQ874
 Q72
 1065

 KQJ86
 106
 K63
 AQ9

6 5 3N S = 10 600       5 1
7 2 3N N = 7 600       5 1
1 3 2N S = 10 120       2 4
4 8 3N S -1 A -100 0 6

Pari Sit LK Tulos Pisteet

 6

 75
 A954
 AK1042
 54

 J986
 Q87
 QJ3
 932

 K1043
 KJ10
 76
 AKJ7

 AQ2
 632
 985
 Q1086

1 3 3N E -1 6 100       4 2
6 5 3N E -1 6 100       4 2
7 2 3N E -1 6 100       4 2
4 8 3N E = 6 -600 0 6

Pari Sit LK Tulos Pisteet

 7

 A52
 Q4
 K854
 J1032

 K93
 85
 1096
 A9874

 Q64
 K632
 A732
 65

 J1087
 AJ1097
 QJ
 KQ

1 6 1 S = 4 80       5 1
8 5 1 S = 4 80       5 1
7 3 2N N -1 2 -100 2 4
2 4 3N N -2 2 -200 0 6

Pari Sit LK Tulos Pisteet

 8

 AQJ982
 A9
 A43
 K2

 K43
 KJ103
 J
 AQ1093

 106
 Q64
 K9762
 J74

 75
 8752
 Q1085
 865

2 4 2 W +1 J -140 4 2
7 3 2 W +1 J -140 4 2
8 5 2 W +1 4 -140 4 2
1 6 4 W = J -420 0 6

Pari Sit LK Tulos Pisteet

 9

 A7
 A10976
 76
 10986

 109543
 Q5
 AQ10
 AQ7

 QJ6
 J843
 J52
 K43

 K82
 K2
 K9843
 J52

7 3 2 N +1 8 140       6 0
1 6 1N S = 7 90       4 2
2 4 4 N -1 3 -50 1 5
8 5 2 N -1 3 -50 1 5



SBL 0302 Salon Bridgekerho

2023-01-18  Rabbit 18.1. Lopputulos
4 pöytää, 8 paria. Jakomäärä: 18. Keski: 54.

Pari Sit LK Tulos Pisteet

 10

 K6
 K875
 AQ63
 1085

 J54
 AJ2
 74
 AJ742

 AQ832
 Q63
 K9852
 ---

 1097
 1094
 J10
 KQ963

2 1 3N W -2 4 200       5 1
7 4 2N W -2 4 200       5 1
6 8 1N W +3 4 -180 2 4
3 5 5 W +1 7 -620 0 6

Pari Sit LK Tulos Pisteet

 11

 K63
 Q2
 KQJ10
 9864

 AQJ72
 A874
 85
 A10

 1095
 K
 A9764
 Q752

 84
 J109653
 32
 KJ3

6 8 4x W -3 5 500       6 0
2 1 4 S = K 420       4 2
7 4 4 E -4 4 200       2 4
3 5 4 S -1 J -50 0 6

Pari Sit LK Tulos Pisteet

 12

 6
 AQJ87
 1075
 10873

 A102
 106
 A86
 KQ962

 KQJ854
 43
 QJ42
 4

 973
 K952
 K93
 AJ5

6 8 3N N +1 8 630       6 0
7 4 2N N +1 8 150       4 2
2 1 2 E +1 A -140 1 5
3 5 3 E = 2 -140 1 5

Pari Sit LK Tulos Pisteet

 13

 K9
 KQ
 AK76
 KJ742

 J102
 J4
 10853
 Q1083

 A653
 10962
 QJ94
 A

 Q874
 A8753
 2
 965

4 6 6N E -4 4 400       6 0
3 2 6 E -2 7 200       4 2
7 5 6 E -1 A 100       2 4
8 1 3N W +3 4 -690 0 6

Pari Sit LK Tulos Pisteet

 14

 J10
 A10642
 J103
 J54

 KQ953
 J
 K964
 Q62

 7642
 853
 Q5
 AK108

 A8
 KQ97
 A872
 973

3 2 4 N = A 420       6 0
7 5 3 S +1 10 130       4 2
4 6 2 N = Q 110       1 5
8 1 2 N +1 A 110       1 5

Pari Sit LK Tulos Pisteet

 15

 AQ73
 A102
 KQ3
 K87

 65
 J83
 842
 Q10652

 1084
 Q975
 1076
 AJ9

 KJ92
 K64
 AJ95
 43

8 1 2N W = 5 -120 6 0
3 2 2N W +1 6 -150 3 3
7 5 1N W +2 2 -150 3 3
4 6 3N W +1 2 -430 0 6

Pari Sit LK Tulos Pisteet

 16

 8
 654
 AQ7
 AKQJ43

 AJ42
 KJ1082
 J9
 97

 9765
 A
 1032
 108652

 KQ103
 Q973
 K8654
 ---

5 1 4 N = 8 420       6 0
7 6 5x N -1 10 -100 4 2
4 3 4 W +2 K -170 2 4
2 8 6 W = A -1370 0 6

Pari Sit LK Tulos Pisteet

 17

 AJ5
 A6542
 J62
 A6

 K10742
 Q8
 98
 K432

 Q986
 K3
 Q43
 J985

 3
 J1097
 AK1075
 Q107

2 8 1N E -1 9 50       6 0
7 6 2 S -1 A -50 4 2
4 3 3N S -2 4 -100 1 5
5 1 2 N -2 3 -100 1 5

Pari Sit LK Tulos Pisteet

 18

 86
 Q42
 743
 AKJ97

 K109543
 AKJ7
 6
 43

 AQJ7
 6
 KJ109
 Q862

 2
 109853
 AQ852
 105

4 3 5 W -2 6 100       6 0
2 8 4 E -1 2 50       3 3
7 6 5 W -1 A 50       3 3
5 1 4 E = 2 -130 0 6


